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   GENERAL INSTRUCTIONS IN EXAMINATION HALL 

 

A. General : 
1. This Question Paper contains 80 questions. Please check 

before starting to attempt. The question paper consists Two 
Sections. Section-A (Conceptual Section) & Section-B 
(Brilliance Section). In Section-A, 5 parts, Chemistry (1 to 10),  
Biology (21 to 30), Physics (21 to 30), Maths (31 to 45), Mental 
Ability (46 to 60) and In Section-B, 4 parts, Chemistry (61 to 
65), Biology (66 to 70), Physics (71 to 75),Maths (76 to 80). 

v- lkekU; % 
1- bl iz'u&i=k esa 80 iz'u gSaA Ñi;k ijh{kk 'kq: djus ls igys tk¡p ysaA bl 
iz'u&i=k esa nks [k.M gSA [k.M&v ¼oSpkfjd [k.M½ rFkk [k.M&c ¼izfrHkk 
[k.M½A [k.M&v esa] ik¡p Hkkx bl izdkj gSa&jlk;u foKku (1 ls 10),     
tho foKku (11 ls 20), HkkSfrd foKku (21 ls 30), xf.kr (31 ls 45) , 
ekufld ‘;ksX;rk (46 ls 60) rFkk [k.M&c esa pkj Hkkx bl izdkj gSa&H 
jlk;u foKku (61 ls 65), tho foKku (66 ls 70), HkkSfrd foKku (71 ls 75) 
xf.kr (76 ls 80) 

2. Space is provided within question paper for rough work 
hence no additional sheets will be provided. 

2- jQ dk;Z djus ds fy, iz'u&i=k esa gh LFkku fn;k x;k gS vr% 
vfrfjDr :i ls dksbZ 'khV ;k isij ugha fn;k tk,xkA 

3. Blank paper, clipboard, log tables, calculators, cellular 
phones and electronic gadgets in any form are not allowed 
inside the examination hall. 

3- [kkyh dkxt] r[rh] y?kqx.kd lkj.kh] dsYdqysVj] lsy Qksu ,oa fdlh 
Hkh izdkj ds bysDVªkWfud xStsV ijh{kk gkWy esa ykuk oftZr gSA 

4. The answer sheet, a machine-gradable Objective 
Response Sheet (ORS), is provided separately. 

4- mÙkj iqfLrdk] vkWCtsfDVo jsLikWUl 'khV ¼vks-vkj-,l-½ tks fd e'khu 
}kjk tk¡ph tk,xh] vyx ls iznku dh xbZ gSA 

5. Do not Tamper / mutilate the ORS or this booklet. 5- vks-vkj-,l- ;k iz'u&i=k dks fdlh Hkh izdkj ls dkaVs&NkaVs ;k eksM+s ughaA 
6. Do not break the seals of the question-paper booklet before 

instructed to do so by the invigilators. 
6- iz'u&i=k dh lhy rc rd ugha [kksysa tc rd fd fujh{kd }kjk 
funsZ'k ugha fn, tk,saA 

7. SUBMIT the ORS to the invigilator after completing the test 
& take away the test paper with you. 

7- ijh{kk lekIr gksus ds ckn vks-vkj-,l- 'khV fujh{kd dks lkSais rFkk 
iz'u&i=k vius lkFk ys tk,saA 

8. Any student found/reported using unfair means to improve his/her 
performance in the test, shall be disqualified from STaRT-2018. 

8- ;fn dksbZ fo|kFkhZ ijh{kk esa vad c<+kus ds fy, vuqfpr lk/kuksa dk iz;ksx djrk 
ik;k x;k ;k ,slk lwfpr fd;k x;k rks og STaRT-2018 ds fy, v;ksX; gksxkA 

B.  How to fill Objective Response Sheet (ORS) for filling 
details marking answers: 

9. Use only HB Pencil for filling the ORS. Do not use Gel/Ink/Felt 
pen as it might smudge the ORS. 

c- vkWCtsfDVo jsLikWUl 'khV ¼vks-vkj-,l-½ esa fMVsYl rFkk mÙkj 
vafdr djus ds fy, fuEu izdkj Hkjsa % 

9- vks-vkj-,l- Hkjus ds fy, dsoy HB isafly dk gh iz;ksx djsaA 
tsy@L;kgh@QsYV isu iz;ksx ugha djsaA 

10. Write your STaRT-2018 Student Registration No. in the 
boxes given at the top left corner of your ORS with 
blue/black ball point pen. Also, darken the corresponding 
bubbles with HB Pencil only. 

10- viuk  STaRT-2018 fo|kFkhZ jftLVªs'ku Øekad vks-vkj-,l- 'khV ds ck;sa dksus 
esa fn, x, LFkku esa uhys ;k dkys ckWy isu ls HkjsaA lkFk gh Øekad ds vuqlkj 
uhps fn, x;s xksyksa dks Hkh HB isafly ls xgjk djsaA 

11. If any student does not fill his/her STaRT-2018 Student 
Registration No. correctly and properly, then his/her ORS 
will not be checked/evaluated. 

11- ;fn dksbZ fo|kFkhZ viuk STaRT-2018 fo|kFkhZ jftLVªs'ku Øekad 
lgh ,oa Bhd <ax ls ugha Hkjrk gS rks mldh vks-vkj-,l- dks 
pSd@ewY;kafdr ugha fd;k tk,xkA 

12. Since it is not possible to erase and correct pen filled bubble, 
you are advised to be extremely careful while darken the 
bubble corresponding to your answer. 

12- vks-vkj-,l- esa fn, x, xksyksa dks ;fn ,d ckj ckWy isu ls xgjk 
fd;k tkrk gS rks mls feVkuk laHko ugha] blfy, fo|kFkhZ iwjh 
lrdZrk ls gh xksyksa dks xgjk djsaA 

13. Neither try to erase / rub / scratch the option nor make the 
Cross (X) mark on the option once filled. Do not scribble, 
smudge, cut, tear, or wrinkle the ORS. Do not put any stray 
marks or whitener anywhere on the ORS. 

13-,d ckj fdlh fodYi ds xksys dks xgjk djus ds ckn feVkus ;k   
[kqjpus dk iz;Ru ugha djsaA vks-vkj-,l- 'khV ij fdlh izdkj ds /kCcs] 
xUnxh ;k flyoV u yxus nsa vkSj u gh bls eksM+sa ;k dkVsaA 

14. If there is any discrepancy between the written data and the 
bubbled data in your ORS, the bubbled data will be taken as final. 

14- ;fn fdlh lanHkZ esa fyf[kr ,oa xksyksa esa vafdr tkudkjh esa varj 
ik;k x;k rks xksyksa esa vafdr tkudkjh dks gh izekf.kd ekuk tk,xkA 

C. Question paper format and Marking scheme : 
15. SECTION-A: For each right answer you will be awarded 3 marks 

if you darken the bubble corresponding to the correct answer and 
zero marks if no bubble is darkened. In case of bubbling of 
incorrect answer, minus one (�1) mark will be awarded. 

l- iz'u&i=k izk:i ,oa vad iznku fu;e %  
15- [k.M&v% izR;sd mÙkj ds fy, 3 vad fn, tk,xsa ;fn lgh xksys dks xgjk fd;k 

x;kA ;fn xyr xksys dks xgjk fd;k x;k rks ¼�1½ vad dkVk tk,xkA ;fn 
fdlh xksys dks Hkh xgjk ugha fd;k x;k rks 'kwU; vad fn;k tk,xkA 

16. SECTION-B: For each right answer you will be awarded 6 marks 
if you darken the bubble corresponding to the correct answer and 
zero marks if no bubble is darkened. In case of bubbling of 
incorrect answer, minus two (�2) mark will be awarded 

16- [k.M&c% izR;sd mÙkj ds fy, 6 vad fn, tk,xsa ;fn lgh xksys dks xgjk fd;k 
x;kA ;fn xyr xksys dks xgjk fd;k x;k rks ¼�2½ vad dkVk tk,xkA ;fn 
fdlh xksys dks Hkh xgjk ugha fd;k x;k rks 'kwU; vad fn;k tk,xkA 

 

Best  of  Luck 
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SECTION - A(CONCEPTUAL SECTION) Hkkx-v  ¼ oSpkfjd Hkkx½ 
PART - I (PHYSICS)  Hkkx- I ¼HkkSfrd foKku½ 

 

Straight Objective Type  
 This section contains (1-10) multiple choice questions. Each question has 

choices (A), (B), (C) and (D) out of which ONLY ONE is correct. 
lh/ks oLrqfu"B izdkj  

 bl [k.M esa (1-10) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d 
lgh gSA 

 

1.    How many electrons constitute a charge of 4.8 coulombs ?   
 (A) 3 × 1019  (B) 4.8   (C) 4.8 × 1019  (D) 3 
 4.8 dwyke ds vkos'k esa fdrus bysDVªkWu gksrs gSa ? 
 (A) 3 × 1019  (B) 4.8   (C) 4.8 × 1019  (D) 3 
 

2. The angle between particle velocity and wave velocity in a transverse wave is : 
  (A) Zero   (B) /4   (C) /2   (D) 
 vuqizLr rjxksa esa d.kh; xfr o rjax xfr ds chp dk dks.k gksxk %  

  (A) 'kwU;    (B) /4   (C) /2   (D)  

 

3. The cause of formation of cyclones is : 
 (A) Air rotates at low pressure with high speed (B) Air rotates at high pressure with high speed 
 (C) Air rotates at high pressure with low speed (D) Air rotates at low pressure with low speed 
 pØokr cuus dk dkj.k gS % 
 (A) de nkc ij gok vf/kd osx ls ?kwerh gS  (B) vf/kd nkc ij gok vf/kd osx ls ?kwerh gS 
 (C) vf/kd nkc ij gok de osx ls ?kwerh gS  (D) de nkc ij gok de osx ls ?kwerh gS 
 

4. Which is not true for a wave ? 
 (A) Wave velocity, v = n    (B) Energy is transferred during wave motion 
 (C) Unit of wave velocity is m/s   (D) All waves can pass through vacuum 
  ,d rjax ds fy, fuEu esa ls dkSulk dFku lgh ugh gSA  
 (A) rjax osx v =  n     (B) rjax xfr esa Å tkZ LFkkukarj.k gksrh gSA 
 (C) rjax ds osx dk ek=kd eh-/ls- gSA   (D) lHkh rjaxs fuokZr esa ls xqtj ldrh gSA 
 

5.         Two light rays A and B incident on a plane mirror as shown in figure. Find the best match of reflected 
rays among the following figures : 

 fp=k esa n'kkZ;s vuqlkj A o B nks izdk'k fdj.ksa ,d lery niZ.k ij vkifrr gksrh gSA fuEu fp=kksa esa ls ijkofrZr 
fdj.kksa dk loksZÙke feyku gS % 

 (A)  

/ / / / / / /
/ / / / / / /

/ / / / / / /
/ / / / / / /

/ / / / / / /
/ / / / / / /

/ / / / / / /
/ / / / / / /

/ / / / / / /
/ / / / / / /

/ / / / / / /
/ / / / / / /

/ / / / / / /
/ /

A

B

  (B) 

/ / / / / / /
/ / / / / / /

/ / / / / / /
/ / / / / / /

/ / / / / / /
/ / / / / / /

/ / / / / / /
/ / / / / / /

/ / / / / / /
/ / / / / / /

/ / / / / / /
/ / / / / / /

/ / / / / / /
/ /

A

B

 (C) 

/ / / / / / /
/ / / / / / /

/ / / / / / /
/ / / / / / /

/ / / / / / /
/ / / / / / /

/ / / / / / /
/ / / / / / /

/ / / / / / /
/ / / / / / /

/ / / / / / /
/ / / / / / /

/ / / / / / /
/ /

A

B

  (D)  

/ / / / / / /
/ / / / / / /

/ / / / / / /
/ / / / / / /

/ / / / / / /
/ / / / / / /

/ / / / / / /
/ / / / / / /

/ / / / / / /
/ / / / / / /

/ / / / / / /
/ / / / / / /

/ / / / / / /
/ /

A

B

 

 

6. Phases of the moon are observed because : 
  (A) The moon does not reflect sunlight  
  (B) The relative position of the sun, earth and the moon changes 
  (C) The shadow of earth falls on the moon 
  (D) Only some parts of the moon can emit light 
  pUnzek ds pj.k ns[ks tkrs gS D;ksafd  : 
  (A) pUnzek lw;Z ds izdk'k dks ijkofrZr ugh djrk gS  

  (B) lw;Z] iF̀oh vkSj pUnzek dh rqyukRed fLFkfr cnyrh jgrh gSA 
  (C) iF̀oh dh ijNkbZ pUnzek ij fxjrh gS 
  (D) pUnzek dk dqN Hkkx izdk'k dks NksMrk gSA 
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7. A plank is supported on the steps of a stair case as shown in figure, How many forces are acting on the 
plank ? 

 ,d iVjk ¼dk"V Qyd ) fp=kkuqlkj lh<h ds ix ds lgkjs :dk gS] ml iVjs ij fdrus cy dk;Z dj jgs gS    

 
 
 (A) 1   (B) 5   (C) 6   (D) 7 
 

8. Ice blocks are covered with sawdust because : 
 (A) sawdust lowers the temperature of the ice 
 (B) the sawdust, together with the air trapped within it, acts as a heat insulator and prevents the heat 

outside from getting to the ice and melting it  
 (C) the sawdust absorbs excess water from the ice. 
 (D) None of these 
 cQZ dh flYyh dks Hkwls esa yisVdj j[kk tkrk gS D;ksafd  : 
 (A) Hkwlk cQZ dk rkieku de dj nsrk gS 
 (B) Hkwls esa mifLFkr ok;q Å "ek dqpkyd dh rjg dk;Z djrh gS vkSj ckgj dh Å "ek dks cQZ rd igq¡pus vkSj mls 

fi?kyus ugha nsrh gS 
 (C) Hkwlk cQZ ls izpqj ty dks lks[k ysrk gS 
 (D) buesa ls dksbZ ugha 
 

9. Rocket works on the principle of conservation of : 
 (A) Mass  (B) Linear momentum (C) Energy  (D) Angular momentum 
 jkdsV fdlds laj{k.k ds fl)kUr ij dk;Z djrk gS & 
 (A) nzO;eku  (B) js[kh; laosx  (C) Å tkZ   (D) dks.kh; laosx 
 

10. The pressure at the bottom of a tank  containing a liquid does not depend on  
 (A) Acceleration due to gravity   (B) Height of the liquid column 
 (C) Area of the bottom surface   (D) Nature of the liquid 
 nzO; Hkjs Vadh ds isnsa ij ncko] fdl ij fuHkZj ugha djrk  
 (A) x:Roh; Roj.k ij     (B) nzo ds LrEHk dh Å pkbZ ij  
 (C) isans ds {ks=kQy ij     (D) nzo dh izØfr ij  
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PART - II (BIOLOGY)   Hkkx- II ¼tho foKku½ 
 

Straight Objective Type  
 This section contains (11-20) multiple choice questions. Each question has 

choices (A), (B), (C) and (D) out of which ONLY ONE is correct. 
lh/ks oLrqfu"B izdkj  

 

 bl [k.M esa (11-20) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ 
,d lgh gSA 

 

11. The correct statement about fungi is that : 
(A) Mushrooms and yeasts are types of photosynthetic fungi. 
(B) Fungi have chlorophyll in them. 
(C) Some fungi are used in medicines. 
(D) Fungi can make their own food. 

 dodkas ds ckjs esa fuEu es ls dkSu&lk dFku lgh gS \ 
 (A) e'k:e ,oa Ø;hLV ,d rjg dh izdk'k la'ysf"kr dod gSA  

(B) dod esa gfjryod gksrk gSA  
(C) dqN dod dk iz;ksx nokbZ;k¡ cukus esa fy;k tkrk gSA 
(D) dod viuk Hkkstu Loa; cuk ldrs gSA 

  

12. �Physical basis of life� is the term used for 
 (A) Protoplasm (B) Nucleoplasm (C) Ribosome (D)None of these 
 thou dk HkkSfrd vk/kkj gSA 
 (A) thonzO; (B) dsUnzd nzO;  (C) jkbckst+kse (D) mijksä  dksbZ ugha 
 

13.   Which of the cell organelle is/are semiautonomous cell organelle� 
 (A) Golgibody  (B) Mitochondria  
 (C) Endoplasmic recticulum (D) All of these 
 v/kZLok;Ùk dksf'kdk vaxd gS & 
 (A) xkWYthckWM+h (B) ekbVksdkWf.Mª;k¡ (C) ,.MksIykfTed jsVhdqye (D) mijksä  lHkh 
 

  
14. Nitrogen fixation can occur 
 (A) By prokaryotes    (B) Through physical processes 
 (C) Both (A)&(B)    (D) None of these  
 

 ukbVªkstu fLFkjhdj.k gks ldrk gS &    
 (A) izksdSfj;ksV~l }kjk     (B) HkkSfrd izfØ;kvksa ls 
 (C) (A) vkSj (B) nksuksa    (D) mijksä  esa ls dksbZ ugha  
 

15.  Scion is the term used in relation to- 
 (A) Embryology   (B) Grafting   (C) Agamospermy  (D) Emasculation 
 lk;u fdlls lECkfU/kr 'kCn gSA  
 (A) Hkzw.kfoKku    (B) xzkf¶aVx    (C) ,xseksLiehZ    (D) foiqalu  
 
16.    Soil fertility is reduced by    
 (A) Crop rotation   (B) Nitrogen fixing bacteria 
 (C) Decaying organic matter (D) Intensive agriculture  
 feêh dh moZrk fuEu esa ls fdl dkj.k ls de gksrh gS & 

 (A) Qly pØ   (B) ukbVªkstu fLFkjhdj.k thok.kq 
 (C) dkcZfud inkFkZ dks {k; (decaying) djuk  (D) xgu Ñf"k dh otg ls 
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17.   The substance which is used for preservation of food for longer time is  
 (A) Sodium chloride  
 (B) Sodium benzoate  
 (C) Potassium chloride  
 (D) Citric acid  
 og inkFkZ tks [kkus dh oLrqvksa dks yEcs le; rd ifjjf{kr j[kus ds fy, bLrseky gksrk gSA 
 (A) lksfM;e DyksjkbM  
 (B) lksfM;e castks,V  
 (C) iksVsf'k;e DyksjkbM   
 (D) flfVªd ,flM 
 
18. Which of the combination is incorrect ?  
 (A) Nitrification - Nitrobactor 
 (B) Nitrogen Fixation - Rhizobium  
 (C) Milk to Curd - Lactobacillus 
 (D) Food Poisoning - Vibrio Cholarae  
  fuEu esa dkSu & lk feyku lgh ugha gS \ 
  (A) ukbVªhdj.k & ukbVªkstcSDVj 
  (B) ukbVªkstu fLFkjhdj.k + jkbZtksfc;e 

  (C) nw/k ls ngh- ySDVkscSflyl  
 (D) Hkkstu fo"kkDrrk & fofcz;ks dksySjh 
 

19.  Match the columns 
 Column - 1   Column - 2 
 A. Cork Cells          i.Alexander Flemming 
 B. Germ    Theory of diseases 
     ii. Louis Pasteur 
 C. Fermentation   iii. Robert Hook 
 D. Penicillin   iv. Robert Koch 
 (A) A i, B ii, C iv, D iii  (B) A iii, B iv, C ii, D i  
 (C) A iv , B iii, C ii, D I  (D) A iii, B ii, C iv, D i 
  LraHkksa dk feyku djks&  
  dkWye- 1  dkWye- 2 

  A. dkWdZ dksf'kdk  i. vySDtsUMj ¶ysfeax  
  B. chekfj;ksa dh teZ F;ksjh 
    ii. yqbZ ik'pj  
  C. fd.ou  iii. jkWcVZ gqd  
  D. isuhlhyhu  iv. jkWcVZ dksp 
  (A) A i, B ii, C iv, D iii 
  (B) A iii, B iv, C ii, D i  
  (C) A iv , B iii, C ii, D i 
 (D) A iii, B ii, C iv, D i 
 

20. The unwanted wild plant growing with the crop plant called ? 
 (A) weed  (B) seed  (C) minor crops   (D) grasses  
 eq[; Qly ds lkFk ik;s tkus okys vupkgs taxyh ikS/kksa dks dgk tkrk gS\ 
 (A) [kjirokj  (B) cht   (C) NksVh Qly  (D) ?kkl   
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PART - III (CHEMISTRY)  Hkkx- III ¼jlk;u foKku½ 
 

Straight Objective Type  
 This section contains (21-30) multiple choice questions. Each question has 

choices (A), (B), (C) and (D) out of which ONLY ONE is correct. 
lh/ks oLrqfu"B izdkj  

 

 bl [k.M esa (21-30) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ 
,d lgh gSA 

 

21. Synthetic fibres are obtained from - 
 (A) plants   (B) animals  (C) petroleum  (D) minerals 
 la'ysf"kr rUrq izkIr gksrs gSa & 
 (A) ikS/kksa ls   (B) tUrqvksa ls   (C) isVªksfy;e ls   (D) [kfutksa ls  
 

22. The ratio of the number of hydrogen and oxygen atoms in water is- 
 (A) 2 : 1   (B) 1 : 2   (C) 1 : 1   (D) None of these  
 ty esa gkbMªkstu ijek.kqvksa rFkk vkWDlhtu ijek.kqvksa dh la[;k dk vuqikr gksrk gS & 
 (A) 2 : 1   (B) 1 : 2   (C) 1 : 1   (D)  buesa ls dksbZ ugha  
 

23. Which part of cotton plant yields cotton balls? 
 (A) Fruit   (B) Flower  (C) Leaf   (D) None of these  
 dikl ds ikS/ks dk dkSulk Hkkx dikl dUnqd nsrk gS \  
 (A) Qy   (B) Qwy   (C) iÙkh   (D) buesa ls dksbZ ugha 
 

24. Which of the following are not synthetic fibres? 
 (A) Polyester   (B) Acrylic   (C) Wool  (D) None of these  
 buesa ls dkSulk d f̀=ke rUrq gS \ 
 (A) ikWfyLVj  (B) ,Øk;fyd  (C) Å u   (D) buesa ls dksbZ ugha 
 

25. The acid present in aerated drinks is - 
 (A) Citric acid   (B) carbonic acid (C) amino acid  (D) acetic acid 
 dkcksZuhd r̀ is; inkFkksZ esa dkSu lk vEy mifLFkr gksrk gS \ 
 (A) flfVªd vEy  (B) dkcksZfud vEy (C) ,sehuks vEy  (D) ,sflfVd vEy 
 

26. Which of the following is not a property of bases?    
 (A) They are soapy in touch     (B) They turn blue litmus paper red  
 (C) There solution is good conductor of electricity  (D) They are bitter in taste  
 fuEu esa ls dkSulk {kkjksa dk xq.k ugha gS \   
 (A) ;s Nwusa ij fpdus yxrs gSaA    (B) ;s uhys fyVel i=k dks yky dj nsrs gSaA 
 (C) budk foy;u fo|qr dk lqpkyd gksrk gSA  (D) ;s Lokn esa dMos gksrs gSaA 
 

27. Metal which can not store in pouches ? 
(A) sodium  (B) calcium  (C) magnesium  (D) zinc 

 /kkrq ftls iSdsV esa laxzfgr ugha fd;k tk ldrk gS & 
 (A) lksfM;e  (B) dSfY'k;e   (C)  eSXuhf'k;e  (D) ftad 
 

28. Which is the correct order of decreasing reactivity of metals?  
 fuEu esa ls dkSulh /kkrqvksa dh fØ;k'khyrk ds ?kVrs gq,  Øe dh lgh O;oLFkk gS \   
 (A) K > Na > Cu > Au  (B) Na > Au > Cu > K (C) Cu > Na > K > Au  (D) Au > Cu > Na > K 
 

29. Metals react with acid to form -       
 (A) basic oxides  (B) salts and hydrogen (C) acidic oxides  (D) hydrides  
 /kkrq vEy ls fØ;k djds cukrh gS&      
 (A) {kkjh; vkDlkbM (B) yo.k rFkk gkbMªkstu (C) vEyh; vkDlkbM (D) gkbMªkbM  
 

30. Which of the following is/are fire-resistant fibres? 
 (A) Asbestos   (B) Nomex  (C) Kermel  (D) All of these 
 fuEu esa ls vfXujks/kd js'kk / js'ks gS& 
 (A) ,LcsLVkWl    (B) uksesDl   (C) dsjesy   (D) mijksDr lHkh 
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PART - IV (MATHEMATICS)  Hkkx- IV ¼xf.kr½ 
 

Straight Objective Type  
 This section contains (31-45) multiple choice questions. Each question has 

choices (A), (B), (C) and (D) out of which ONLY ONE is correct. 
lh/ks oLrqfu"B izdkj  

 bl [k.M esa (31-45) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ 
,d lgh gSA 

 

 

31. The value of 214 130 88 44 25     

 214 130 88 44 25    dk eku gS & 

 (A) 14   (B) 15   (C) 16   (D) 17 
 

 
32. In what time a capital becomes five times at the simple interest rate of 10% per annum 
 (A) 10 years  (B) 30 years   (C) 40 years  (D) 50 years 
 fdrus le; esa 10% okf"kZd C;kt dh nj ls dksbZ /ku ik¡p xquk gks tkrk gS & 

 (A) 10 o"kZ  (B) 30 o"kZ   (C) 40 o"kZ  (D) 50 o"kZ 

33. If x = 1, y = � 1, and z = � 1, then the value of 
3
yzx 22

  is - 

 ;fn x = 1, y = � 1, rFkk z = � 1 gks] rks 
3
yzx 22

 eku gS 

 (A) 
3
1

   (B) � 
3
1

  (C) 1   (D) � 1 

34. The area of a square is 225 sqm. Then, the perimeter of the square is : 

 fdlh oxZ dk {ks=kQy 225 oxZehVj gks rks mldk ifjeki gksxkA 

  (A) 50 m ¼ehVj½  (B) 15 m¼ehVj½  (C)  215 m¼ehVj½ (D) 60 m ¼ehVj½ 
 

35. If (4)3 × (6)4 × (10)5 = 2x × 3y × 5z , then the value of x + y + z is - 
 ;fn (4)3 × (6)4 × (10)5 = 2x × 3y × 5z gks, rks x + y + z dk eku gS - 
 (A) 12   (B) 15   (C) 20   (D) 24 
 

 
36.  The denominator of a fraction is greater than numerator by 6. If 3 is added to numerator and 2 is 

subtracted from denominator, the fraction becomes 
6
7

 , then the equation so formed is- 

 ,d fHkUu dh gj va'k ls 6 vf/kd gSA ;fn va'k esa 3  tksM+ fn;k tk, rFkk gj esa ls 2 ?kVk fn;k tk, rks fHkUu 
6
7

 gks 

tkrh gS] rks bl izdkj cuh lehdj.k gS- 

 (A)  
7
6

3x
4x





  (B) 

7
6

4x
3x





  (C) 

7
6

2
3

6x
x







  (D)  
7
6

3
2

6x
x






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37. In right angled triangle ABC, B = 90°, CE is a bisector of the BCD and BD  AC. BAC = 30º, then 

CED is- 
 ledks.k f=kHkqt ABC esa B = 90°, CE BCD dk lef}Hkktd gS vkSj BD  AC ;fn BAC = 30º gS] rks CED 

gS- 

F
D

CB

E

A

 
 (A) 65º   (B) 45º   (C) 60º   (D) 30º 
 
 
 

38. If area of a circle A1 is 25 times the area of a circle A2, then ratio of their circumference is- 
 ;fn oÙ̀k A1 dk {ks=kQy oÙ̀k  A2 ds {ks=kQy dk 25 xquk gks] rks mudh ifjf/k dk vuqikr gS- 
 (A) 1 : 5   (B) 5 : 1  (C) 25 : 1  (D) 1 : 25 
 
 
 

39. Given that AB || CD. True statement from the following is : 
 fn;k gqvk gSa AB || CD, fuEufyf[kr esa ls lR; dFku gS % 

E

BG

HC

F

D

 
 (A) AGH + DHF = EGB + GHC  (B) AGE + GHC = AGH + GHD 
 (C) AGE + GHC = EGB + DHF  (D) AGH + GHC = EGB + GHD 
 
 
 

40. If the perimeter of a rhombus is 52 cm and it's longer diagonal is 24 cm then length of another diagonal 
is : 

 leprqHkqZt dh ifjfefr 52 lseh rFkk cM+k fod.kZ 24 lseh gS] rks nwljs fod.kZ dh yEckbZ gS : 
 (A) 10 cm  (B) 12 cm  (C) 14 cm  (D) 16 cm 
 
 
 

41.  If the selling price of 12 articles is equal to the cost price of 15 articles, then the percentage gain or loss 
is � 

 (A) 25% gain  (B) 25 % loss   (C) 30% gain  (D) 30% loss 
 ;fn 12 oLrqvksa dk foØ; ewY; 15 oLrqvksa ds Ø;ewY; ds leku gSa] rks ykHk vFkok gkfu izfr'kr gS & 
 (A) 25% ykHk  (B) 25% gkfu   (C) 30% ykHk   (D) 30% gkfu 
 
 
 

42.  The average of four consecutive odd numbers is 28. Out of these the greatest odd number is� 
 pkj Øekxr fo"ke la[;kvksa dk vkSlr 28 gSaA buesa ls lcls cM+h fo"ke la[;k gSa & 
 (A) 33 (B) 31   (C) 29   (D) 25 
 
 
 

43.  Out of 50 observations the mean of 25 observations is 30 and mean of rest 25 observation is 32, Then 
mean of 50 observation is � 

 50 izs{k.kksa esa ls 25 izs{k.kksa dk ek/; 30 rFkk 'ks"k 25 izs{k.kksa dk ek/; 32 gks] rks 50 izs{k.kksa dk ek/; gS & 
 (A) 34 (B) 33   (C) 32   (D) 31 
 
 
 

44.  Two numbers are respectively 25% and 40% less than a third number. What percent is the second of the first ? 

 nks la[;k,¡ rhljh la[;k ls Øe'k% 25% vkSj 40% de gSA nwljh la[;k igyh la[;k dh fdruh izfr'kr gS ? 
 (A) 90% (B) 80%   (C) 70%   (D) 60%  
 
 
 

45. What least number should be replaced for @ so that the number 673012@2 is divisible by 9. 
 la[;k 673012@2 esa @ dk og NksVs ls NksVk vad Kkr dhft, ftlds fy, la[;k esa 9 dk Hkkx tkrk gSA  
 (A) 5   (B) 6   (C) 8   (D) 7 
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PART - V (MENTAL ABILITY)  Hkkx- V ¼ekufld ;ksX;rk½ 
 

Straight Objective Type  
 This section contains (46-60) multiple choice questions. Each question has 

choices (A), (B), (C) and (D) out of which ONLY ONE is correct. 
lh/ks oLrqfu"B izdkj  

 bl [k.M esa (46-60) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ 
,d lgh gSA 

 

 Directions : (46 to 48) Find the missing terms :  
 funsZ'k : (46 ls 48) yqIr in Kkr fdft;s  :  
 

46. 55, 210, ?, 820, 1275  
 (A) 465   (B) 420   (C) 410   (D) 515 
 

47.  BYCXA, EVFUD, HSIRG, KPLOJ, ? 
 (A) MNLOL   (B) NMOLM  (C) QJRIP   (D) PKQJO  
 

48. 

B

D

? D

35 C

189 E
 

 (A) 64   (B) 65   (C) 66   (D) 67 
 

 

49. If RED is written as 24  and GREEN is written as 44 then WHITE will be written as:  
 ;fn RED dks 24 fy[kk tk;s rFkk GREEN dks 44 fy[kk tk;s rks WHITE dks D;k fy[kk tk;sxk &  
 (A) 59   (B) 45   (C) 60    (D) 65 
 

 Direction : (50) Arrange the following group such that when arranged in a specific order, meaningful 
word is formed. 

 funsZ'k : (50) fuEu lewg ds v{kjksa dks bl izdkj O;ofLFkr fdft;s rkdh blds v{kjksa ls ,d vFkZ iw.kZ 'kCn cu lds  
 
50. D  I  F  E  R  N 
 1  2  3   4  5   6 
 (A) 1,4,3,6,2,5  (B) 6,4,3,5,2,1  (C) 3,5,2,4,6,1  (D) 5,4,3,2,6,1 

 

 

51. Ram is 11th in a queue which has 45 people. In queue the number of men member is double than the 
number of ladies. If 5 men are infront of Ram, how many ladies are behind him ?  

 45 O;fDr;ksa dh ,d drkj esa jke dk LFkku 11 oka gSA drkj esa iq:"kksa fd la[;k efgykvksa ls nqxuh gSA ;fn jke ds 
vkxs 5 iq:"kksa gks rks jke ds ihNs fdruh efgyk,sa gksxh \   

 (A) 10   (B) 9   (C) 8   (D) 7 
 

52. There are five different houses, A to E, in a row. A is to the right of B; E is to the left of C and right of 
A;B is to the right of D. Which of the houses is in the middle?  

 ,d iafä  esa A ls E rd ik¡p fofHkUu edku gSA A, B ds nk;sa gS rFkk E, C ds ck;sa vkSj A ds nk;sa gS rFkk B, D ds 
nk;sa gSA dkSulk edku e/; esa gS ? 

 (A) A   (B) B   (C) D   (D)  E 
 

53. Pointing to a photograph, a person says to his friend, �She is the grand-daughter of the elder brother of 
my father, �How is the girl in the    photograph related to the man ?  

 (A) Niece  (B) Sister  (C) Aunt  (D) Sister-in-law 
 ,d rLohj dh vksj ladsr djrs gq,s ,d O;fä ] vius fe=k ls dgrk gS fd  ̂ ôg esjs firk ds cM+s HkkbZ dh iks=kh gS rks 

rLohj okyh yM+dh ml O;fä  ls fdl rjg ls lEcfU/kr gS ? 
 (A) Hkrhth  (B) cfgu   (C) pkph   (D) uun 
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Direction : (54) In the following question,complete the  missing portion of the given pettern by selecting 
from the given alternatives. 
funsZ'k : (54) fuEu fodYiksa esa ls ml fodYi dk pquko dhft;s tks iz'u vkd f̀r ds fjDr LFkku ij j[kus ij mldks 
iw.kZ dj lds ? 

 

54.   

 

 (A)   (B)    (C)   (D)  
 
 

Direction : (55) A sheet has been folded in the manner as shown in X, Y and Z respectively and 
punched. You have to choose from the alternatives how it will look when unfolded. 
funsZ'k : (50) ,d 'khV ftldks dh bl izdkj eksM+k tkrk gS tSlk fd fp=k X, Y rFkk Z esa fn[kk;k x;k gS rr~p'pkr 
fp=kkuqlkj iap fd;k tkrk gSA ml fodYi dk pquko dhft;s tks fd 'khV dks okil [kksyus ij fn[kkbZ nsxk ? 

 

55. Y Z  

 (A)   (B)   (C)   (D)   
 

56. If � means + means ×, ÷ means �,× means +, then which of the following equations is correct ? 
 ;fn � dk eryc , + dk eryc x,  dk eryc �,  × dk eryc + , gks rks fuEu esa ls dkSulh lehdj.k 

lR; gSA  
 (A) 52  4 + 5 × 8 � 2 = 36   (B) 43 × 7  5 + 4 � 8 = 25 
 (C) 36 × 4 � 12 + 5  3= 420   (D) 36 � 12 × 6  3 + 3= 60 
 

57. Pointing to a photograph of a girl, Rajan said "She has no sisters or daughters but her mother is the 
only daughter of my mother." How is the girl in the photograph related with Rajan's mother ? 

 (A) Sister-in-law  (B) Grand daughter (C) Daughter-in-law (D) Cannot be determind 
 ,d yM+dh ds Nk;kfp=k dh vkSj b'kkjk djrs gq,s jktu us dgk fd] ^̂mlds u rks dksbZ cfgu gS u gh dksbZ iq=kh] 

ijUrq mldh ek¡ esjh ek¡ dh bdyksrh iq=kh gSA Nk;kfp=k okyh yM+dh jktu dh ek¡ ls fdl izdkj lEcfU/kr gS \  
 (A) uun   (B) iksrh   (C) cgq   (D) Kkr ugha dj ldrs 
 

58. If the first and second digits in the sequence 5 9 8 1 3 2 7 4 3 8 are interchanged, also the third and 
fourth digits, the fifth and sixth digits and so on, which digit would be the seventh counting to your left ? 

 ;fn vuqØe 5 9 8 1 3 2 7 4 3 8 ds igys vkSj nwljs vadks dks vkil esa cny fn;k tk;s blh izdkj rhljs vkSj pkSFks 
vadks dks rFkk ik¡pos vkSj NBs vadks dks] rFkk blh izdkj vUr rd rks dkSulk vad vkids ck;h vkSj dh rjQ fxuus 
ij lkroka gksxk \  

 (A) 1   (B) 4   (C) 7   (D) 8 
 

59. 3 : 24 :: 5 : ?   
 (A) 120 (B) 45   (C) 124   (D) 27 
 

  Directions : (60) Fill the blanks in the following questions from the choice given below. Which are 
based on pyramids. 
funsZ'k : (60) fijkfeM+ ij vk/kkfjr fuEu iz'uksa esa fn;s x;s fjDr LFkkuksa dks mfpr fodYiksa ls iw.kZ dhft;s& 

b c d
e f g h i

j k l m n o p

q r s t u v w x y
z  

60. flt : klm : : iow : ?   
 (A) hnv   (B) mno   (C) nop   (D) gmu  
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SECTION - B(BRILLIANCE SECTION) Hkkx-c ¼izfrHkk Hkkx½ 
PART - I (PHYSICS)  Hkkx- I ¼HkkSfrd foKku½ 

 

Straight Objective Type  
 This section contains (61-65) multiple choice questions. Each question has 

choices (A), (B), (C) and (D) out of which ONLY ONE is correct. 
lh/ks oLrqfu"B izdkj  

 bl [k.M esa (61-65) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ 
,d lgh gSA 

 

61. The unit of change in momentum is : 

 (A) N × s (B) N/s (C) N (D) 
m
xskg  

 laosx esa ifjorZu dk ek=kd gksxk& 

 (A) U;wVu × lsd.M (B) U;wVu@lsd.M  (C) U;wVu  (D) 
ehVj
lsd.Mfdxzk  

 

62. The phenomenon due to which bottom of a tank filled with water appears raised is : 
 (A) dispersion  (B) refraction  (C) reflection  (D) all of them 
 og ?kVuk ftlds dkj.k ikuh ls Hkjs Vsad dk iSank Å ij mBk fn[kkbZ nsrk gS : 
 (A) fo{ksi.k  (B) viorZu  (C) ijkorZu  (D) mijksä  lHkh 
 

63. How many electrons constitute current of one 
 micro ampere in one second ?  
 ,d lSd.M esa fdrus bysDVªkWu izokfgr djus ij ,d ekbØks ,fEi;j /kkjk gksxh ?  
 (A) 6.25 × 106 (B) 6.25 × 1012  (C) 6.25 ×109  (D) 6.25 × 1015 

 

64. The shrillness of a musical sound depends upon: 
 (A) Amplitude  (B) Loudness  (C) Frequency  (D) Quality 
 laxhr dh ddZ'krk fuHkZj djrh gS& 
 (A) vk;ke ij  (B) rhozrk ij  (C) vkof̀r ij  (D) xq.krk ij  
 

65. We can see the objects only when : 
  (A) The object absorb all the light        
  (B) Scattered light reaches our eyes 
  (C) The objects allow all the light to pass through them  
  (D) None of these 
  ge oLrqvksa dks rHkh ns[k ldrs gaS] tc % 
  (A) oLrq,sa lEiw.kZ izdk'k vo'kksf"kr djrh gaS    
  (B) oLrqvksa ls izdhf.kZr izdk'k gekjh vk¡[kksa rd igq¡prk gS 
  (C) oLrqvksa ij vkifrr lEiw.kZ izdk'k buls xqtjrk gS   
 (D) mijksä  esa ls dksbZ ugha 
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PART - II (BIOLOGY)   Hkkx- II ¼tho foKku½ 
 

Straight Objective Type  
 This section contains (66-70) multiple choice questions. Each question has 

choices (A), (B), (C) and (D) out of which ONLY ONE is correct. 
lh/ks oLrqfu"B izdkj  

 

 bl [k.M esa (66-70) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ 
,d lgh gSA 

 

66. Which among the following is a connecting link between living and non living ?  

 (A) Euglena (B) Virus (C) Fungi (D) Protozoa 

 fuEufyf[kr esa ls dkSulk thfor vkSj vthfor ds chp ;kstd dM+h gS %  
 (A) ;qXyhuk  (B) ok;jl  (C) dod  (D) izksVkstksvk 
 

67. Which of the following statement is / are true for an animal cell : 
 (i) It contains a single large vacuole  (ii) Outer most boundary is plasma membrane   
 (iii) Nucleus is well developed and lies in center.  
 (A) (i) and (ii) (B) (ii) and (iii)  (C) none of these (D) all are true  

 tUrq dksf'kdk ds fy, fuEufyf[kr eas ls dkSulk dFku lR; gS %  

 (i) blesa ,d cM+h fjfDrdk gksrh gSA  
 (ii) ckg~; f>Yyh IykTek f>Yyh gSA  (iii) dsUnzd iw.kZ fodlhr ,oa dsUnz esa fLFkr gksrk gSA 
 (A) (i) rFkk (ii)  (B) (ii) rFkk (iii)   

 (C) mijksä  esa ls dksbZ ugha  (D) mijksDr lHkh dFku lR; gSA  

 

68. Virus contains  

 (A) DNA only   (B) RNA only   

 (C) RNA and DNA both   (D) Either RNA or DNA but not both  
 ok;jl esa gksrk gS %  
 (A) dsoy DNA   (B) dsoy RNA   

 (C) RNA rFkk DNA nksuksa    (D) ;k rks RNA ;k DNA ysfdu nksuksa ugha 
 

69. Which of the following food will provide the nutrient for the growth of tissue in human body  
(A) Cheese  (B) Fruit  (C) Sweets  (D) Vegetables 
fuEu esa ls dkSulk vkgkj ekuo 'kjhj esa u, Å rdksa dh of̀) ds fy, iks"kd rRo iznku djrk gSA  

 (A) iuhj   (B) Qy    (C) feBkbZ;k¡   (D) lfCt;ka 
 
70. Given below are the pairs of disease and causal pathogen. Which one of these is not a matching pair ? 
 (A) Kala azar-Leishmania    (B) Sleeping sickness - Trypanosoma  
 (C) Malaria - Salmonella    (D) Acne - Staphylococci 
 uhps fn, ;qXeksa esa jksx rFkk ml mRiUu djus okys jksxtud dk uke fn, x, gSA buesa ls dkSu&lk tksM+k lgh ugha 

gS ? 
 (A) dkyktkj-ya'ekfu;k      (B) fuanzkyq - fVªIuklkaek  
 (C) eysfj;k � lkyeksusyk     (D) eqgkls - LVQkbykdkadkbZ  
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PART - III (CHEMISTRY)  Hkkx- III ¼jlk;u foKku½ 

 

Straight Objective Type  
 This section contains (71-75) multiple choice questions. Each question has 

choices (A), (B), (C) and (D) out of which ONLY ONE is correct. 
lh/ks oLrqfu"B izdkj  

 

 bl [k.M esa (71-75) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ 
,d lgh gSA 

 

71. Tungsten is used in electric bulbs because - 
 (A) it has high melting point   (B) it is metallic in nature 
 (C) it has high tensile strength    (D) it has high density 
 fo|qr cYc esa VaxLVu dk mi;ksx gksrk gS] D;ksfd & 
 (A) bldk xyukad mPp gksrk gSA    (B) ;g /kkfRod izd f̀r dk gksrk gSA  
 (C) bldh ruu lkeF;Z mPp gksrh gSA   (D) bldk ?kUkRo mPp gksrk gSA  

 

72. Which of the following substances is added to  petrol to improve its quality ? 
 (A) Calcium carbonate   (B) Ethylene dibromide 
 (C) Tetraethyl lead   (D) Ethyl Mercaptan 
 fuEu esa ls dkSulk inkFkZ isVªksfy;e dh xq.kork c<+kus ds fy, mlesa feyk;k tkrk gS \ 
 (A) dSfY'k;e dkcksZusV     (B) bFkkbyhu MkbZczksekbM+ 
   (C) VsVªk bZFkkby ysM    (D) ,fFky edsZIVsu  

 

73. Statement - 1   Graphite is used as an electrode in an electrolytic cell. 
 Statement - 2   Graphite is an example of non-metal . 
 Choose the correct statement : 
 (A) Statement 1 and 2 are true and statement 2 is the correct explanation of statement 1 
 (B) Statement 1 and 2 are true but statement 2 is not the correct explanation of statement 1. 
 (C) Statements 1 and 2 are false 
  (D)Statement 1 is true and statement 2 is false 
 dFku & 1  xzsQkbV dk mi;ksx fo|qr vi?kVuh; lsy esa bysDVªkWM dh rjg gksrk gS 
 dFku & 2  xzsQkbV v/kkrq dk mnkgj.k gSA  
 lgh dFku dk p;u dhft, & 
 (A) dFku 1 vkSj 2 lR; gS rFkk dFku  2 dFku 1 dk lgh Li"Vhdj.k gSA 
 (B) dFku 1 vkSj 2 lR; gS ijUrq dFku  2 dFku 1 dk lgh Li"Vhdj.k ugha gSA 
 (C) dFku 1 vkSj 2 vlR; gS  
 (D) dFku 1 lR; gS vkSj 2 vlR; gS 
 

74. A, B, C are three elements such that A on reaction with air produces dazzling white flame, B is used in 
rubber industry for hardening and C acts as a conductor with rise in temperature. Then A, B, C are � 

 (A) metals      (B) metalloid, metal, and non-metal respectively 
 (C) non-metal, metal, metalloid respectively (D) metal, non-metal, metalloid respectively  

 A, B ,oa C rhu rRo gSA A ok;q ds lkFk vfHkfØ;k dj pedhyh lQsn Tokyk mRiUu djrk gS] B dk mi;ksx jcj 
m|ksx esa dBksjrk ds fy, fd;k tkrk gS] ,oa C rkieku c<+kus ij pkyd dh rjg O;ogkj djrk gSA rc A, B ,oa C 
gS & 

 (A) /kkrq       (B) Øe'k% mi/kkrq] /kkrq ,oa v/kkrq    
 (C) Øe'k% v/kkrq] /kkrq ,oa mi/kkrq    (D) Øe'k% /kkrq] v/kkrq ,oa mi/kkrq  
 
75. Some common changes are classified in given table :  
 (i) Stritching a shirt - Irreversible    

(ii) Breaking of an egg � Chemical change      
(iii) Lighting an electric bulb � Reversible 
(iv) Occurance of new moon � Non-periodic 
(v) Dissolving sugar in water � Physical 
Which of the following are correctly matched  
(A) ii, iv, v  (B) i , iii , v  (C) ii , v   (D) All 
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PART - IV (MATHEMATICS)  Hkkx- IV ¼xf.kr½ 
 

Straight Objective Type  
 This section contains (76-80) multiple choice questions. Each question has 

choices (A), (B), (C) and (D) out of which ONLY ONE is correct. 
lh/ks oLrqfu"B izdkj  

 bl [k.M esa (76-60) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ 
,d lgh gSA 

 

76.  If 21 �x' 5 is a multiple of 9, Where 'x' is a digit. What is the value of 'x' ?  
 ;fn 21 �x' 5, 9 dk ,d xq.kt gS] tgk¡ 'x', ,d vad gS] rks 'x' dk eku D;k gksxk\   
 (A) 6 (B) 3   (C) 0   (D) 1 
 

77. Find the value of 
n3nn

nn2n

326

2330




 

 
n3nn

nn2n

326

2330




 dk eku Kkr djksA 

 (A) 
n

10
3








 (B) 

n

3
5








  (C) 

n

8
10









   (D) 

n

3
10









 

 

78. 36 Seconds, is what percentage of one hour ?  
 36 lsd.M]1 ?kaVs dk fdruk izfr'kr gksxk \  
 (A) 6  (B) 0.1    (C) 0.01   (D) 1 
 

79.  If a room has dimensions 50 m by 30 m, a square carpet 20 m is laid on the floor, then the area not 
carpeted is  

 (A) 1100 m2   (B) 110 m2   (C) 1100 cm2   (D) 220 cm2  
 ;fn ,d dejs dh fnokjsa Øe'k 50 m xq.kk 30 m gS, ,d 20 m Hkqtk dk oxkZdkj dkiZsV Q'kZ ij fcNk;k tkrk gS] rks 

dejs dk NwVk gqvk og {ks=k Kkr fdft,A 
 (A) 1100 oxZehVj  (B) 110 oxZehVj  (C) 1100 oxZ lsaVhehVj (D) 220 oxZ lsaVhehVj 
 
80. Ramanujan cut a circle with circumference �c� and radius �r� into 8 congruent sectors and used them to 

take the figure shown. 
 jkekuqte ,d o`̀Ùk dks ftldh ifjf/k ,oa f=kT;k gS dks lokZxle Hkkxksa esa dkVrk gSA fp=k ds vuqlkj mi;ksx gSA 

 
 Ramanujan noticed that the figure was very close to the shape of a parallelogram. 
 Select the correct statement. 
 jkekuqte ns[krk gS fd fp=k lekukarj prqHkZqt ds cgqr gn rd leku gSA 
 lgh dFku crkvksA 
 (A) The height of the parallelogram is approximately equal to circle�s diameter. 
       lekarj prqHkZqt dh Å ¡pkbZ o`̀Ùk ds O;kl ds yxHkx leku gSA 
 (B) The area of the parallelogram is approximately c � r. 
        lekarj prqHkZqt dk {ks=kQy c � r ds yxHkx leku gSA 
 (C) The radius of the circle is approximately equal to the twice the height of the parallelogram. 
       o`̀Ùk dh f=kT;k] lekarj prqHkqZt dh Å ¡pkbZ ds nks xqus ds yxHkx cjkcj gS 
 (D) None of these buesa ls dksbZ ugha  

Å ¡pkbZ
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ANSWER KEY 
 

Ques. 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

Ans. A C A D C B D B B C C A B C B

Ques. 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30

Ans. D B D B A C A A C B B A A B D

Ques. 31 32 33 34 35 36 37 38 39 40 41 42 43 44 45

Ans. B C B D D B C B A A A B D B B

Ques. 46 47 48 49 50 51 52 53 54 55 56 57 58 59 60

Ans. A B B C C A A A C A A B B A C

Ques. 61 62 63 64 65 66 67 68 69 70 71 72 73 74 75

Ans. A B B C B A C B D C A C B D B

Ques. 76 77 78 79 80
Ans. D B D A D  
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